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A ____ = 15 ages

Answer: ___________________

Two ____ = 30 ages

Answer: ___________________

Three ____ = 45 ages

Answer: ___________________

Four ____ = 60 ages

Answer: ___________________

Five ____ = 75 ages

Answer: ___________________

Six ____ = 90 ages

Answer: ___________________

Seven ____ = 105 ages

Answer: ___________________

Eight ____ = 120 ages

Answer: ___________________

Nine ____ = 135 ages

Answer: ___________________

Ten ____ = 150 ages

Answer: ___________________



Answers

A ____ = 15 ages

Answer: fifteen

Two ____ = 30 ages

Answer: thirty

Three ____ = 45 ages

Answer: forty-five

Four ____ = 60 ages

Answer: sixty

Five ____ = 75 ages

Answer: seventy-five

Six ____ = 90 ages

Answer: ninety

Seven ____ = 105 ages

Answer: one hundred five

Eight ____ = 120 ages

Answer: one hundred twenty

Nine ____ = 135 ages

Answer: one hundred thirty-five

Ten ____ = 150 ages

Answer: one hundred fifty


